=4 Find dhe domain  of vhe Afellowing funchons.

a) 3(90: X+ 5

. Dom = E-"a‘,oo) = Sl xeR' x= -*53

> Z S0 ‘-Dcomz-%)ceﬂzf XB%PS"

Need X R io
e, X =+ 3

. |
Need xA-2 > 0 ( cait =0 d’ﬂ@’#’)
2 >3

- Dom = (3’,00) = %16]’}2? ’Z?B}



|

e) N
HO (X+D0H3)

Heve x+ -1 and x=-3

-~ Domn = %‘Iéﬂz f —I:f:-\ 77(4:__3_‘%

£). g0 = ‘

r ol

= |
(2+3D(x-2)

So x#F-3, x#+2
Dorn = 3 xeR: :chfa,ia‘-—zr%

@) h(x) = A 2
X —\

Rolom sFo0 so xF=|
“ Dom = % 2 &R ¢ x:/__-t ,‘—Sf

x* — |
Need X-220  AND  XF 2]
e Xz 2 AND ~x+t
—t ¥ ! | LL sl S
-1 © T

Cince both need o hold
Dom = L2, o)



<) fﬁ(‘}i) > A4+
2+ |

e bottom s always 2o  vegardles oA value

opom = 1R

J) SCX) = I27_3>11'

Need 21-3x* = o
e 5(0|__.i7—) > o

e C‘l—_xl ZO

Noh@  when x=t3  94-2"=0

| H "
: ' 0 —
-3 3 = 1L S
p i A N - .
Neay Pos 29

We want Cl\—a;ap/o So take —-34=x<L£3
% DOM - t’%,gj

R) %?(X) = Ji;:l— -+ A5

Need both  2x-1 20 AND 2A+HZZD0

e xZL e 2l

Both  wovkc Hov .’x?/—%__



Common  Funchons

. lunear Functions

e nes .
Ecmgﬂ = R,
Y= ¢ ( constant -ﬁundﬂoﬂ
(eg' y=5) 1 Pom =R
= Range = %C’@
= .

Note: . ¢ o NoT  a Liunchion

e
2. Power  funchions

Quadvatic : y= x>

e Pavaboelgs g

Range = [o,t0)

U
=

© Cubic
ubic 0 Dom= IR
Qan@;z: IR

——

or ‘j:ajc3 o Pucx +d 1

i
!
\

\ |



3. Root+ Funchons

\atﬁ Dom = [o,tq)
/ @M%‘Z: [@/00)

v

3

%, Rec‘ri‘pmm,i Funchons

q= 432 i‘, o) & 3% 0
_\/\\}K, D@an%e ;E %ﬂl \x:ﬁé 3

Recirangmlaﬂr Hﬂ perio la

5 Absolute Valmr FiAWCHOh

5:\?1’.\ "
e \
~X

£ x
"? XLo

W

A
Reaall debnihon

Dom =[K
({an@z = (0,00)



¢. Precewnse (or SPH) Funchon
X £ AL 20
eq ! = |} = 1 ‘
¥ 4 \ é_ 0 <o S @ preceisse fundhion

A detined by d\ffevent {ormulai
i diffevent sechons of domain

€q’ _S’,(X) _ {I +x i:{i % < | o 74
- o> o %w




